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1. What kind of nutrients contribute to the shell of Diatoms?
(A) Nitrate (B) Silicate (C) Phosphate (D) Nitrite

2. To assume that there is no wind blowing over the open sea, what should be the main force to drive an
Eddy?
(A) Eutrophication (B) Vertical mixing (C) Evaporation (D) Coriolis effect

3. The velocity of idealized traveling waves could slow doWn because?
(A) Increase of water density (B) higher buoyancy (C) shallower depth (D) Increase of wave length

4. What are the main factors help the formation of Methane Hydrate in the seafloor?
(A) High salinity (B) Low temperature (C) High Pressure (D) Limitation of light
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What are the main components of Biodiversity? (1 5%)
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